H; H;

Nott (2003) submerged Hy = [025(ps — pw/pw ) 2a] / [(Ca (ac/b?) + C1] Hs=[(ps — pw / pw) 2a1 / [(Cq (ac/b?) + 1]
subaerial Hy=10.25 (ps — pw/pw) [2a — Cm (a/b) (ii/8)] / [Ca(ac/b®) + C1]  Hs=1[(ps — pw/pw) [2a —4Cnm (a/b) (ii/8)] 1/ [Calac/b?) + C1]
joint-bounded boulder  Hy =[0,25 (ps — pw/pw)al / Cy Hs=[(ps — pw/pw)al/Cy

Pignatelli (2009) joint-bounded boulder  H;=[0,5-¢- (ps — pw/pw)] / C

Engel and May (2012)  subaerial Hi=05u-V-pp/Cq-(@a-c-q)pw Hy=2-pu-V-pp /Cq-(a-c-q) pw

joint-bounded boulder Hi=(pp —pw) -V -(cosd +p-sinf) /2-pw-CL-a-b-q Hs = (pp —pw):-V-(cosO+pu-sinf) /0.5 -pw-CL-a-b-q




